(21) J’ (x* —1)e*dx = (x* -1)e* - 2J' xe*dx
u=(x*-1 v=¢
du = 2xdx dv = e*dx
-2 J’ xe*dx = —2{xeX - I exd>} = -2xe* — 2"
u=x v=g*
du = dx dv = e*dx
DJ’ (x? —De*dx = (x* —1)e* —2xe* —2e* +C = x’e* —e* - 2xe* - 2e* +C
=x’e* -2xe* —e*+C=e*(xX* -2x-1)e* +C =(x-1D’e* +C
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du = dx dv =/ x—1dx
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DJ’ x\/x—ldx=1—25(x—1)(3’2)[3x+2]+C

(25) J’xcosxdx:xsinx—J' sinxdx = xsinx+cosx+C

u=x V=8nx
du = dx dv = cos xdx

dx

(27) J’ arctan xdx = xarctanx+I v

u = arctan x V=X
du = 12dx dv = dx
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u=1+ x>0 du = 2xdx

dx:1|n|u|+c :1|n|1+ x?|+C = Lin@+x?) +C
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DJ’ arctan xdx = xarctanx—%ln(1+ x?)+C



